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CHAPTERl 

Evaluate each expression. Clearly show work going DOWN! Circle final answer. (8points) 

1) 5-3+3+5·3
J i;7� +\5'-=-

5-'r is�

@ 

3) (5 + 4) · 3 - 5(4 + 1)
(9), 3 -S ( 5)--=� --

J ➔ -- J5�

® 

5) (1+7-�+3 �
-

3.;.3+ s�

2) 10 + (4 - 2) + 2 + 5
J o7" z.-+ Z.-fS -=-

5 -r z..+S=

� . ...:1 

4) 5+1-(3+1-(6-31)
5-4 \ - ( 3-+ 1 - 3 ) =-

5 +,..: C 1) � 
s-+ J -+{- i) "::. 

0 

Q R.,_ C t � o F O P �� AT� u "-1 5 : 
(!) ( ) 1 

s ..., I tJ s, D f T<> our s � o �

© f:XPo� t.NTS ( 4N i) SQ R.ot>T�) 

(.3) M VL T, ,:;, v I O � ➔ L f t='T -ro iQ. i G \¼T 

-
-

/ 202.-:z. 
"cl . 

--

6) (2 + 3) • 3 --7 5 ... 3 -
3+2-2___:;J ~-

Peno 



Evaluate each using the values given. Show work clearly. Circle final answer. (8points) 

8) x- 5 + (x - 3)2; use x = 6 

(:;-5+(fo-3)2-

0 -~(3j;: 
{9-,.,,; S---tC\ -

Write each as an algebraic expression, equation, or inequality. (6points) 
[f o\ 

9) the difference of n and 15 - ~ 

{N-JS] 
11) a numberplus 10 is greater than or equal to 20 

Solve AND CHECK each equation. (8points) 

12) /- 5x = -11 

-/j_ -i > 

----=-r~-l~ -. -s 

CD:> 
c_,: y. -.s ( 3)=- -11 

_11-=-JJ✓ 

10) the quotient of n and 15 is 100 

--- ~s~ 7ou 

13) 5x-f~45 

-tt°_ -tS 
• 

s-.,/"\ e1.-·, +i ,3 aT11 s·, PE s----
t~ S'-f '-i (-,-i)-q (-y)-1-:. zy 

5-t ( I,) f-JC, - J;:; z y' 

z.~:z~/ 
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Evaluate each function; and write using function notation. 

For example ---> f(#)=## 

15) g(n) = 3n + 3; Find g(4), g{-2) 

9 ( 4) -=-3('t) -l-3 1T9 
d (-L) = 3(-2') +~ ~ }~ 

17) J(x) = 2x + 4; Find /(1), J(-2), J(O) 

➔ (1)-: 2 (,)-f'f :::If] 
-rc-2) =-z(-2) +4 ~J~ 

-f (o) ~ 2 (o)-+4 ==-fIJ 

19) J(x) = x2 + x; Find /(10) Find J(-5) 

16) h(x) = 3x + 2; Find h(l), h(-2) 

h (1; -=-3(>)4 2 -fil 
h (.,. 2) -:. ?> {- z) -f 2 -=-J@ 

18) p(x) = 3x; Find p(8), g(-2) 

p ( ¥) -: ~ ( F?) -=/2'!]_ 
I'(-;:,:: 3 ( z}==f}] 
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CHAPTER 2 \ NT€.6€.e. S 'f\ t c ?o s ~ T1 \/ f -4- fJ t 6-A-Tl V:__)E 
. W ·.-,-\-\ N o I> € c imA1.,.s J F (." cT1cJN.S 

(lpt) Determine which numbers are integers. Circle the numbers that ar{integeQ 

20)@ .:C 21)4{ tlo 

23)0 .I 

(lpts) Name the number eitheir rational or irrational. Abbreviate: R=rational; IRR=irrational 

25) -Jii .J:12.~ R. CrT CA"1 
~ t V a. .. , Tff ~ I 
/+5 A 

27) n l Ra_ F IZ. '1 c.. n <loJ 

✓ tl,,,1 ,.:-: ✓✓\/ 
28) ( 4pts) Arrange numbers 1/2, -1, 0, '\/ 25, -5 , 3, 5/2 in ascending order (least to greatest). 

-J-<------s~1_-~l~1~o_r_;~12~,-5~h-,-'-~~,~✓-~~----;~~ 
D 
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\ .. ,., C ) 's -r~f.~'T !Pt &.S \/J\1..vf \ \' ~ e. 
(3pts) Evaluate each expression. CLEARLY SHOW WORK AND CIRCLE ANSWER. 

30) 1-6+21 31) 12--31 

l -'ll ~Jj] i-"l o,g) 

(4pts) Find each sum. Show work! TIP: add negative numbers and add positive numbers 

32) (-5) + 3 + 5 + (-5) 3 3) (-8) + 8 + 4 + (-2) 

Rewrite each expression as an Addition problems (2pts). 
Then evaluate and circle your answer (lpts) 

-

./f\Jf" 

34) (-8) - 3 - (-6) 
-t 
~ 

35) 3-4-(-3) 

- <if -r C-1>"') -+" ; 3 + ( -~) -r 3 -:. 

-\\-'f\o-

@ 
(2pts) Evaluate each expression 

~ ot>t> ,-.1\)/11\be-
3 6) ( 3 )(-2 )(-1 )(-1) _ ~ \ ~ -7 .. 
r::c:\ ,~ S'-> \-r.> Q S 

i~ ~-* 
(3pts) Find each quotient. Clearly show work. 

-3 
38) -9+-

4 

- • 
(D Ch end< _. 

(b) --1°' c ~ C (' C. 

@ ~'-' \ ~ P .. \ "')-. 

G) S~, ~ p h-C 'f 

-\-o r1kr [ t 
C.-, eto C. ~ \ 0 .J' 
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(3pts) Evaluate each expression. Clearly show your steps. 

40) -3 • 4 - 2 + 4 41) 5(-6+2)+5 
---==--

- 12. +(-Z.) -¼-'f SC-'/) + ~-::: 

-_J a../ 711 = -Zo-t-S-

-f10] L-,~1 
(4pts) Simplify each expression. Write in standard form (variable term first and constant last) --~ .;:::;::---._ 
42) 2(2x - 4) 43) -2(3x - 2) rg 'lr- <ox+'l / 

44) n + 10 + 5n + 6 
___..__. ---=. ----

_, --.--... 
48) -(-3x + 10) + 40 

50) (r)(q2); use q = 2, and r = -4 

(-L-1) (a~):; 
-~ (4):;. 

EB 

S-rf P 1.. 
she~ 
.5" bs-t"• 

45) -2n+10+12n-15 

L 

51) 4x-z;usex=-2,andz=-6 

'-l (-2 -(-r,,) 

--8-+b~ 

I~ 
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(!, .... l o - S (;;) =-} ( z.) _ .3 _ 3 

O=o✓ 

~ ! 7(7 -3(£/J)=--(I/) -3/ 
:::,. (-s) = ~"3~-

--- 3..S-~-3.!>/ 

_--.. 
54) -68,'(-2- x) = 5 + 3x 

~ ,,:::;:--. 
55) 2(x + 7) = 2(4 - 2x) + 6 

©2022Kuta S of I w a r e L LC . A 11 r i g h t s r es e r v e ""d7_-

'2.X ➔ \l\-=- %"-4.Y+~ 

-z ~ -+ \ i ::. - '--\ Ix -t- \ ~ 
+'-IX + 4x 
--====i=====---

~ .x-,. ,l./1= ,'-/ 
_. J 4 -I 'f 

c~1-(0+1')~2{11-2(0) +L 

J•r:. 2(~)+b 
!'1 :. i ✓ 

Made with lnfinitc Algebra I. 



� ,., 
56) 2(4+3x)+x==6x:_ (x+4)

� -t L,.x + ..x -;. le,)( -.x - '-I

7.x+� � -�J-'-1 
- S.x -six.

� ::::::,-.. 
57) -4(x + 4) + 6(x - 7) = 2x + 8

- '-lx-J to + '7x -4' z. = -zx+�

-1- sa =_;t-+8-

- s- � J_ �0
(!= No Sot..vl'fd� 

-t-
WhU\ �

vc...--� c.,\,l� clr<JpS 

C, u + Cc, r"\ J. 'i--h (. 

n u N b e rs 4- .,.. e 
fJuT 

E:, Qv'fJL 

/YJU q'-, f L-i o/ j 

J?e<i pruc./ j 

( � f (-90} +s-u =- -IOcJ

-- l �-o + ,_r--u == - l v o
- l or;:: -I Od/

e> 2 0 2 2 Kut a S oft w a r e L L C . A I I r i g h t s r c s c r v e d --:8- M a d c w i l h 1 n f i n i t e A I g c b r a 1 . 

(~) ~ X ~-1s-o( -f-) 
X - - y:--o 

~ 
Solve each proportion and Check! Show work clearly. Circle solution. (6 points each) 

59)~ f-
~ 

3 ( -,., ~ e,.q 
-1)( ,. s'-1 
~~ 

~=-18 ~ 
~ ·.. "3 -"~~ 
L- '; =- ( .. Hi) 

'/ 2.: •/,_ v" 

_ .... 60):\~. 
-, -~ 

3 Al~ 9 { Nt~) 

31"'-::: 9°Nt7J 
- qtJ - q 

~ = ~ lh I ~ = - I 2 j 
C r, - l 2. - ,.. J'Z..;. ~ 

~ -
-o/3 ~ ~i / 



CD J: 4;;)Q1...A, t=. "i 
61) Write the equation in function form: 

1qk-~=20 
--- © P vi' , "'-' . Y= m )('-t 1, 

- rb-x -fo)( 

~~ :: 5X )0 / . 

Ael'I eM ~er CJ N , T ..S 
O -ct E 4)v-t\ ,id.J ~ ,:!,=~ 

Write a proportiont'Solve and Check! Show work clearly. Circle solution. (6 points each) e=: 

62) What percent of 20 yards is 120 yards? -·- 63) 400% of what is 8 miles? 

~ ~ i r--t: Q-~ 'I-:-. o-AJ--8-=-il 
100 N 

~o~~~ 
~0() ➔ 

N .:.;>trl; les 

64) 6 is what percent of 120? 
-== ~==-

65) What is 40% of 80 days;_? ______ ---:, 

__jO _ ~ ) fQ~ N= D,':f (80) 
Joo - to 

Solve each word problem. Write a propo learly show your wor used to answer the 
question. (5 points each) 

"-----==- tAusT t>o ~ A-N~wt.~ 1.J A s-c~reJJc e 
66) A recipe for oatmeal raisin cookies calls for 2 cups of flour to make 3 dozen cookies. How 

manycups of flour are needed to make 12 dozen cookies? 
. ----------- )( ~ .:J Cvf .S u FRwte.. 

\l.J.: eool(,e....s 2 X ~ -

~ -¥lour =) 3::. 12 
(x;-8) 

➔ /ou.. Ne~J. ~ C\J f S --R ovr -¾-,) /1J c 1t.. e 
/ 2 dc;z &1 Coo k., ~s 

67) The ratio of weight on the moon to weight on Earth is 1 : 6. How many pounds would a 
144-pound person weigh on the moon? ~ X-:; ~ ·} bS oN "-1--he. rVI oo,N 

<' "1')o~r,a w&T __L, 2,_. 
,/ Y -~==- ,. (o =- J 'i 't __ ,--, ,he o er~ d'I" L0 o u \ ~ t.Ue • '1 l, 
~ £11 L TH k) GT - ~ }~'f 1- i.l l &9 r .. ' - ,J a 

j. ~ X ~ o{ J '2 '1' I \a 5 011 ~ 'M <)a 

(9 ---====-
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CHAPTER4 

#3J;JA,a•.a.....ru...!.!!B~O!!D!.::;...,:. G~raph the linear function using table method Create 3 table witq 3 points. 
1 
¾-:" J 

must be inte ers * F" At A c. n U"J - ? , t ~ A,\\J I I' c..s 
~ ,~clwc'f.s 'i ~-f' t)e"1<)/\;f,. 

68) X = 4 f. 69) 2 • 3 
y -

.J '\ 
,1,1! 

-6 - ~ -14 3 - !2 - I 
" 

X 

-r .. \,\-e ~ 
I~ 

- "- ~ r. C. • t-> x J, \v 

" -r--1 f~"J' 1 
.x :;---'/', \ 

... I ,v 

i l ~ l 0 ~ / I j 
~ 

-~ 

y=-3x+ iX 
-~-t=a"=.--

,.. 
"'r'>.. ·~ 

'S~ 

) ~ -~ -2 I 

,y 
0 

-

-~ 
- ""¾.. 

~"' 
"..._M X 

- 3 

tJ 3 

3 \ 

f ;'c.\£.. "} \le\v-e,!lo +t.J-r t 
*INTERCEPT METHOD: Graph linear function with intercept. 1) Identify x & y intercepts -

x: __ ; y:__ (2) Label intercep s on with the x and . 

70). 5x-3y=-l5 71) - 2 y=- 4 

Y"""2f . y 

~ .I 
If' 

' 
V 

I 
,, v-

-IL, V 
" 

I 
,,W A 1,,1 

' I' .... .,~V 
6 -~ Vi/ ~ -!2 I X -~I,,. . -2 I X 

II' 
p .. 

ti " 

-,, 
(-'-/ 0 

J 

( o, z") 
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Y-mx+'o ,,,,,,.. ~=-slope 
I\ -- ';::f,,'lJ, 

SLOPE-INTERCEPT METHOD: Graph the linear func'tion using slope and y-intercept. (1) 
Identify the slope & y-intercept with the correct variable names. (2) Clearly mark 3 points with 
a Y for they-intercept. ~(('\ M= o? 

~ "" ~ 0 ➔ A --f\1- t--,., ~ , .. ~ \. 
72) y = -x + 2 t3 ::. ~ 73) y = 3 6 .: 3 

.... 
11' 
I '\ 

Jf __ ' 

-16 5 -14 3,,'2 

/ 

' 

2 
74) y =-x-2 

5 

-16 p -14 13 -12 

-"""' V 

~ 
l..d" 

i;-· 

--

~ 
, R_ 

I 

-
-
' 

-

-

-
-

1 

~ -

-

76) 4x- y=-4 

y 

,,, 
·" 

, 

y 

lb 

, 

~ 
I 

",,¥/ 
A 

ff ,. 
-o -4 - 2 J. 1 

I 
¥ 

-
" 

• 
1 
! " 

Y/ 

; 

"\. 
~ X 

~ 

i...;: 

. -r'7 
!,,,," ... X 

V 

X 

I 

y 

:i \ -v 1' .... • I'. I.,. 

-

-
-~ 5 -Ii 3 -~ I X 

75) X + 2y = 2 ----=)~ +z.., .:: 2. 
y 11..x _)C 

~" = -x +2 ~' --=-- -
~ z_, "'Z,_. 

' ~~~ 

~ ~ '.,I 

- ;~ I¾ 
'5 -15 14 -13 ~ -1 -f",,,;. ' 

:6'--~X+I 

-'1_!-i_ 
- I - I 

4-= t.fx-t-t/ 
Q 

_.:,r, 

"11::, - ½. 
13 :. 

S LoPt Jl'JTt,iCG Pr 

s/i ~; mx➔• h 
M.:::;. slupe.. 

J 

b :. J; AJ - e 1Lcti-l'T 

CJsE. SLoPt 

m - {l..lS~ 

/<.vr,-J 
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CHAPTERS 

INSTRUCTIONS: CLEARLY SHOW WORK FOR FULL CREDIT. (8pts each) 

Write slope-intercep . form of the equation of line given the slope & y-intercept. 

77) Slope= -4, y-intercept = _!_ 
4 

78) Slope=-¾, y-intercept = -2 

Write th,point-slopeform of the equation of the line through the given point with the given 
slope. - ~~ Y, d) 

79) through: (1~ slope= 2 ~ 80) through: (-3, 2), slope =-4 

Write the SLOPE-INTERCEPT form of the Write the~~PE-INTERCEPT !orm of the 
equation e me t rough the given points. equation o e hne through the given point 

. ( ) ( ) C..i Vt,,, z. r➔.swith the given slope. 
81) through. -5, -2~nd -2, 4 ,r-J b s-Jope 

5 r lNO SLot'e 82) through:(4,-3), slope=--
4---~ 

m= ~-= "Y_!---Y, =:. 'j_➔±.s ~J r/s ~ 4-+:, = -f1- '+) 
!Jx x~ -x, -2:r .3 d ,.,. l"' 

~ ~➔1 = -_¾x-rS 
-P/s '/+2-= .11'.x+s) -l - 3 

~::~ = z.x-1-~~ s/ .I- -:> ~ --;[x-t.J I 
tr /5, c--:ln,.x -t 8 

St o('E - , t-JT°i= fl Cf:PT : 'Y == /Y1 x+ b 

-poiNI SLoPf : j- d1 = rr1 (x -x,) 

~ m==-slo()f 

f o-, ti+ (;</ '/ ') 

© 2 0 2 2 K I a S o f t w a r e L L C . A I I r i g h t s r e s e r v e-ctl 2- M a d e w i t h I n f i n i t e A 1 g e b r a 1 . 



Write th, ~PE-INTERCEP'!form of the 
equation o he line fflrough the given points. 

Write the ~OPE-INTERCEPt form of the 
equation o ~e ltne lhtunglr tire ~ven point 

83) through: (4, 4) an~\~ <! •Ni' 
~ ae,:;2 

f , ""-I .I::> ,s 1 oee : m ::. 2 -':I .... _±:. ... J,.. 
o-"I -=-... ~ ... 2. 

with the given slope. ~ 1 N7 
- e,- -3 

84) through~e = - ~ ~ -
, '--M,-¾ 

~ 
5) __r }Y-=--fx-3 l 
~ 

Write th[POINT-SLOP~ form of the equation of the line described . 
. _ A m~2 ,,,....-::, M-:. Ys 

85) through:(-1,-4), paralleltoy=2x-1 86) hr h·( 3 l) _i -3 
.I/ ... t . oug . , , perp. to y - x 

// m- 2 •',. _l y,1:.. -5/ 3 
5 

f/s -1 '<\-+i ~ ;;i ( X➔ ,) l r /s. ➔ I 1- I =---j 6:-3) I 
Write ~ SLOPE-INTERCEPry-orm of the equation of the line described. __ _ 1 

~ ""~ 31 ~? ~ _, s 3 /~ 1 
87) through: (-4, -2), parallel toy= -x + 1 88) through: (2, 5 ), perp. toy= - -x - 5 

3/ 2 5 I/ hJ; /7.- _J.: YY} - s-
3 ~( ~ ~ Pis y+z:.~ x-+tv p/s y-s-=-s(x-2) 

4-¼ =~)(+~ 
() '2- -2 

d-g _ sx-10 

-J-/~ +S 

o/1 ~:1_l\-t'f S/J.--7/~r:Sx-SJ 

? ,._...:, A><--t '1>'{"' C { A, ~C ue j,ikd-etaj 

Write thf tandanl ~f the equation of the line through ~n pomts. , :,{';) 

89) through: (5, 3) and (-3, -3) f/ 5 ➔ f- 3 - J- ( )(-~) ,~ 
--73-3 -~ ➔ '¥. ~J M ~ - :-- '°' -3- ~£, :X - I c.J , .~ ri -3-~ _,8 d /" 9-

m =-aJ.-1 1 (-1/~x ~ 1= -3/-1) ➔ ~r 
\-:>-,c -die. -.J 

© 2 0 2 2 K u t a S o f t w a r c LL C . A 1 I r i g h t s r c s c r v-J 3:t . M a d e w i t h I n ( • i t e A I g e b r a l . 
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CHAPTER6 

• A LO~t:D Don O ➔ ~ >,_ ;a . L / J 
e OPfAJ t::>oTs O ➔ < ') t 

' / I 

~ W ~ \TE. 1N EQ ~ \/I\~' AG tc 
lli;------_:_...:.....:::.::..:.:~c;:._..3.S~'/f..!.N.~f'.xJ~L=-.!.N.1.i_v~t.-t~8~t~~;_ Draw a graph for each inequality. 

r-c.vor;+c \ ........ ,1 \ re• \ "-k ~ 
90) 4 < n --::,f\ , -, 91) 2 2 p vwr. :::, Ir:: oi I 

« I I I I I I I I I I I a:'\>; I 1/ "' I I I I I I • I I I I I ~ 
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 Y 5 6 7 -7 -6 -5 -4 -3 -2 -l O l 2 3 4 5 6 7 

Write an inequality for each graph. Use the variable "X" 

92) « I I I I I I I I I I E9 I I i ' ) 
-7 -6 -5 -4 -3 -2 -I O I 2 3 4 5 6 7 

93) If i • i ' I ' 9 I I I I I I I I t 
~~~-4~ ~ ~ 0 I 2 3 4 5 6 7 

fX ~-I} 
SOLVE each inequality. Circle the solution. Then GRAPH its solution. 

94) 9 + 4x - 8x < -5x - 1 + 4 

~ 
96) -12+3x23x-6(4x+6) 

95) -13 - 2x 2 X + 4 + 7 

sreP5 I -zx -\:,~ i+n 
- )( -IJ< urs; """\~-''I 

f34 t-h :,iJ~~ 

(3) 6 f:T '11\~ orl 

L. ~E=i" :,, b E Til 

MA l(. ~ f AS'•te 

TD G~t\PH 

a> FL.,f Si Mioo\. 

vJhe."' yo.,. rM'4/di>1 
1'ht. 06ori11\,\e. 'o'i 

N E.GAT\\lt th/t"\&f.~ 

97) 7x+
1

16<4x+3(x+4) 

• -s 

3x - \"2. ~ ~)( ·vi)( -3 6 
3)\ -\z.>, -2.1A-~b 

+2 \,. +2lx 

f X =-IJ o sa1..vT\ otJ j 
(!# Whe-r'l ~t. \)er; oble 

• o d"'u fS ou+ Ot~ d 4·l,e 

STyY)i I\ s p fl Ls E ,HE4' 

'-'. \ ~ 'I ffl 
fl.JO 5 <1 l.. U I • <ftJ 

© 2 0 2 2 K u t a S o ft w a r c L LC . A I J r i g h l s r e s er v f!"J 4- M a d c w i t h J n f i n i t e A I g e b r a l . 



Solve and graph its solution. THEN write as a "SINGLE" inequalities (i.e. #<x<#) 

101) -5x + 9 < 10t,- 6 or-4x- 8 > 7 - 3~ 
-Jc.,X - ' X -+3~ +"5 

102) 9x + 10 ~ 6j + 4 or -2x - 8 ~ -t 10 

- ')( - (J,c +.( + 

- l~)( +t< ~ i 
- -1 

-x-% )+ 
+ -+& 

3)< -t-t'✓ .., 
-1 -lo 

- X.-1 >/ IQ 

+l~ -+~ 

-~.X 4' -IS -'x > \s ~ >✓-, 
~

2>/~ 
~s 7i"s ~

\ -=1 
~ ;- -l -( 

"" A 

) )(> \ 1 X~-2 I OR. y,. --(-\S \ o~ X ~ -\&' 
.s<-'v,~ 

'::JI" ~(, \_..)~f. 
~~~"" \ " f--0 D-==7 ~~\ 

~ ()9-. ' -,s 1. • ~ 
. - i -z.. 



CHAPTER 7 - GRAPHING SYSTEMS 

Solve each system by graphing (recommend checking) 

3 
105) y = - -x - 2 t 

2 

te\l\ .. 
./ 

1 
y=--x+ 3 • 

4 

y 

~ F= <=-.. 

~ y= 
~ 

' 'r\ 
-~ -14 13 [2 ~ 

~ 

~, 
H\ 

~ 

-
I""= r== 

~ 

\ 
~ 

\ ~~ 

-~~ 

.v" 
V 

I" 
I . 

)f' 

)I', 

f¥-r p [2 I / 
-,... V 

.V 
vi 

.A 
F 

-

:5olo-t111tJ 5 
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Sketch the graph of each linear inequality. Show a test point 
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Sketch the solution to each system of inequalitiesJl!ow a test point for each equation. 
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"''~ 4 ,?Tfo,oJ ➔ (?'>,J(!) 3 .....-=,T(o,u) 7 o~-z.(j:) 

113) y2--x-2 114) y~-x-2 
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116) y ~ -3 
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Tell whether the given point is a solution to the system of equation. Explain your decision. 

117) -x - 2y = 7 • Point (-5,-1) 
2x- y=-11 Q 

z ( -s') - ( ~ = -ll 
~\O+\=--\\ 

-q=F-"® 

119) 2x + 3y > 9 • Point (3,5) 
2x- 3y < 3 o 

2 ( 3 )-+ 1 (S) ) 9 
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118) 2x + 3y > -9 • Point (3,3) 
2x-3y>-3 • 
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CHAPTER 8 -·r~ CALs 

Evaluate a numeric exponential power. 
---> Clearly show work. SHOW how t~he expression; 
---> THEN EVALIJ.A±E. Circle your-~ 

121) (-2)
6 ~ c-z.)(-l) ( -z) (-z) (-~ (-i)-:; 

@ 
Evaluate numeric expressions with positive integer exponents, using the product, quotient, and 

power properties. 
---> Clearly show work by SHOWing how yon +,-, * to SIMPLIFY EXPONENTS. 
---> Provide the answer in BOTH exponential form and then evaluate 
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122) lQ_ 
104 
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\Q ·::: \0-B-=. 
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2

'3 - I Ob-:.. 
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Evaluate complex numeric expressions with whole number exponents demonstrating the abili ~ 

to use the roduct, power, and quotient properties O 
---> Clearly show work by SHOWing how you +,-,* to SIMPLIFYEXPONEN J> f<,Q..I ~~') 
---> Provide the answer in BOTH exponential form and then evaluate ~t> \,\9 () ~Q 'i;t ~ 

\'vQ.,, 
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Simplify. Clearly show work. 

136) (3(y4)'
4 ~ 3,:.. 'f. u. J ~ •'-i 

\ 'a-I x-1 ')' •L \ 

( ~) -138) -2x y -

131) -2x 3 
• -6x 

-2•- C,. -x -3-li I 

~ 
133) 3yx 4 • 7x2y° • x 

~-t-2-+ I 
3,7,J :X 

1--fO 

- Simplify. Your answesr can contain only positive exponents. (3pts each) 
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